Chapter 6 – Review #1

Meagan is sitting in a rocking chair.  The distance d(t), between the wall and the rear of the chair varies sinusoidally with time t.  At 1 s, the chair is closest to the wall and d(1) = 18.  At t= 1.75 s, the chair is farthest from the wall and d(1.75) = 34 cm.
a) Make a sketch.

b) Model the situation with an equation.

c) When will Meagan be 30 cm from the wall?

The average daily maximum temperature in Kenora fluctuates between -13.1°C in January (consider that time 0) and 24.7°C in July(consider that month 6).  

a) Make a sketch.

b) Model the situation with an equation.

c) When will the temperature be -9°C?

A sinusoidal function passes through (0,-4) and has a period of 20, an amplitude of 3 and an equation of the axis y=-1.  

a) Make a sketch.

b) Model the situation with an equation.

c) When will y=2 when  x is between 0 and 60?

A sinusoidal function has an amplitude of 2 units, a period of 180 degrees, and a maximum at (0,3).  

a)  Make a sketch.

b) Model the situation with an equation.

c) When will y=-1 between 0 and 360 degrees?

The diameter of a car’s tire is 60 cm.  While the car is being driven, the tire picks up a nail.  At time 0 s, the nail is at the bottom of the tire.  The tire takes 0.4 s to rotate. 
a) Make a sketch.

b) Model the situation with an equation.

c) When will the tire be 40 cm above the ground in the first 2 seconds?

Below is a table the models a function.

	x
	0
	45
	90
	124
	180
	225
	270

	y
	9
	7
	5
	7
	9
	7
	5


a) Make a sketch.

b) Model the situation with an equation.

c) When will y=6, when x is between 0 and 540?

The top of a flagpole sways back and forth in high winds.  The top sways 10 cm to the right (+10cm) and 10 cm to the left (-10cm) of its resting position and moves back and forth 240 times a minute.  At t=0, the pole was momentarily at its resting position.  Then it started moving to the right.

a) Make a sketch.

b) Model the situation with an equation.

c) When will the flagpole be 0.8cm to the left in the first 3 cycles?

Meagan is sitting in a rocking chair.  The distance d(t), between the wall and the rear of the chair varies sinusoidally with time t.  At 1 s, the chair is closest to the wall and d(1) = 18.  At t= 1.75 s, the chair is farthest from the wall and d(1.75) = 34 cm.

d) Make a sketch.

e) Model the situation with an equation.

f) When will Meagan be 30 cm from the wall?

The average daily maximum temperature in Kenora fluctuates between -13.1°C in January (consider that time 0) and 24.7°C in July(consider that month 6).  

d) Make a sketch.

e) Model the situation with an equation.

f) When will the temperature be -9°C?

A sinusoidal function passes through (0,-4) and has a period of 20, an amplitude of 3 and an equation of the axis y=-1.  

d) Make a sketch.

e) Model the situation with an equation.

f) When will y=2 when  x is between 0 and 60?

A sinusoidal function has an amplitude of 2 units, a period of 180 degrees, and a maximum at (0,3).  

d)  Make a sketch.

e) Model the situation with an equation.

f) When will y=-1 between 0 and 360 degrees?

The diameter of a car’s tire is 60 cm.  While the car is being driven, the tire picks up a nail.  At time 0 s, the nail is at the bottom of the tire.  The tire takes 0.4 s to rotate. 

d) Make a sketch.

e) Model the situation with an equation.

f) When will the tire be 40 cm above the ground in the first 2 seconds?

Below is a table the models a function.

	x
	0
	45
	90
	124
	180
	225
	270

	y
	9
	7
	5
	7
	9
	7
	5


d) Make a sketch.

e) Model the situation with an equation.

f) When will y=6, when x is between 0 and 540?

The top of a flagpole sways back and forth in high winds.  The top sways 10 cm to the right (+10cm) and 10 cm to the left (-10cm) of its resting position and moves back and forth 240 times a minute.  At t=0, the pole was momentarily at its resting position.  Then it started moving to the right.

a) Make a sketch.

b) Model the situation with an equation.

c) When will the flagpole be 0.8cm to the left in the first 3 cycles?
